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Ct. AP oA 22| Y| 100,000,000 |HA=7&lord22ldl 10,000,000,000& X 14 = 100,000,000

17




20133/ HIHE MK FOIEEM A SEHAA
=0
S| 2013 32 1Y RE - 2014% 22 282 X
AE (-2
=
0] &b o4 MED
2| s |As ALK
ch., g ora 20,000,000 |HA=r=etat2idl 20,000,000& X 14! = 20,000,000
O, d4&celg 20,000,000 |¢t+&cle=Hl 20,000,000& X 14! = 20,000,000
HE. oo =Y -
A HEH 2 he b= 30,000,000 |CHetHA&t=XI2= 30,000,000& X 14l = 30,000,000
(3) DS 230,000,000
Jb. AtEt=2sH e 30,000,000 |Xt&t=3t&=dl 30,000,000& X 14 = 30,000,000
Lb. KIATHAHA ==kl 200,000,000 |=2UWXATHAHAESRASEH| 350,0008 X 20024 70,000,000
HAXAMTHAMAZERASSFHl 2,600,000& X 50H 130,000,000
(4) JIEFKI R HI 20,000,000
Jb. JIEHXI& Y] 20,000,000 [2IEFXI&HI 20,000,000& X 14l = 20,000,000
4) LEBHHI RSN 210,000,000
(1) ez 210,000,000
o, 212 30,000,000 [0124HI 30,000,008 X 141 = 30,000,000
Lt. eEtRZ bl 180,000,000 [« ErHIZHl 30,000,000& X 14 = 30,000,000
AN THEX 150,000,000 X 14! = 150,000,000
5) 2UAHBHIREY 15,000,000
o, BIQBRATEA -
Lt. JIEt24 2 15,000,000 |21Et24K28I& 15,000,000& X 14l = 15,000,000
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20138/ HIH . KX =B E0 & =8

gl 20138 33 1€ RH - 2014¢ 2E 28€ JtAl

S Al A

(9l
T o=
- O] &k o8 M2
| 2 |H= R

6) SNIHNESESREN

3,200,000,000

3,200,000,000 |stul3lHEE=S 3,200,000,0008 X 141 = 3,200,000,000

SNHEs220E Bs7EN

5,327,000,000

1) SXAHAXI&E -

(1) #2123

(2) 318
s §

(3) EXSEX

(4) JIEtE XA E XX & -

2) RENMHSKE 5,227,000,000

(1) EXHFS -

(2) AEHS -

(3) P=EHS

(4) JIADIRHAS

5,000,000,000 [2IH21= = 5,000,000,000& X 14

(5) &

S

=
o
hati]
Jn

227,000,000 (&E2101& = 227,000,000& X 14 =

(6)

z
o
H0
1
ol
bl
In

(7)

>
T
Jn

A1 A

il

S
x
30 | O
e

o

(8) 2

>
4
Jn

3) RFENLNSENE

100,000,000
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20132 A A

= H1XF F=IoH4

g7l 20134 33 1€

SYU IR

FH - 201498 28 282 X

Al

S Al A

i
0
e

d+ =

oo

o

M= M=

Off &+ oK

MEZH

(1) NAHARAHES

100,000,000 [F&

o

KA et FS 100,000,0003 X 141 =

100,000,000

(2) HLHIHS

(3) JIEIREXIAMHE

4) J|IEHHIR S

THatX &

(1) NS HEXNE

of
(2) ARII=2HE

X
(3) HSIISHEX=
(4) JIEDI2EEX

3. M2

300,000,000

300,000,000

300,000,000

o1 el

g&= X= 2,000,000 X 1508 =

300,000,000

2) J|=23tt#

oF

o I3

22,873,208,328
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